250 BEYVZT7ILIRFERR(CZT7OH) FREHFADE
& x SM25108 38(LER)
18 R—L - 2AbhO—=0TFL— LTA BBLAIHA RIILTEEE
Ty RREZ— | TEL 0985-85-8585
No. |x&2—+ K % # X K % # X K % # X K % # X
1]07:30| pktn #0== = g ™ AR &% = g A IE = I ™ IR = g ™
2(07:38| Il B = IE FRRE & = IE sk Gk = W% ™ b8y & = W5 ™
307:46| HE EEE = g AL BBSS = IF EKXEE = IF HE B3 = g
41 07:54] BARfE— = IE BT EX = I 1Ll E—RB = IF FR3E R = IE
00802 #RH BE— 7 & IRt BEX = Bz H] FR3E <7 = I B EIT = I
6] 08:10 ;EE EFH 78 & B &) 7 & 515 & = IE g IR E |
7108:18] HIR F35h D 3k ™ FULL ER— HEmh HE EA = H] KA —XK /N MR T
8] 08:26| Z1RER F— #B ik JII#% & HEmh UNEYIN 78 & ™ JtH & /N MR T
9] 08:34 5T #B ik e ER HEmh =K /N AR T et & /N MR T
10 | 08:42 = 1E HEmh H.LE & HEmh X XK Hrmh == 181F INAR T
11| 08:50 | 7HAS HRES HEmh ME ZX HEmh soH FIJBR Hrmh f2H 52 Hrmh
12] 08:58| 2K x=AB HmE WH B HmE R BB HEh KEF BEiE Hrh
13 ] 09:06)| AH =8 HmE =S HmE L = R ] ™ 5 f0= X [E
14 09:14) {kfE BIE E [E AR EX ZE [ ER3Z WA = T 18 H] HIE A= ZE [E
18R—L - 2 bO—0 FL—
1V RE—h
No. |x&—+ K 4 # X K 4 # X K 4 # X K 4 i ¢} X
1] 07:30| BgyT IE— = I B R Sl ki KM 1854 = g
2] 07:38 HFLa = 5 ] _E 5588 = g JHEF JE— = 5 ™ 1ER2 AR SR = 5
3| 07:46| &M 5= #1 & B )\ IER =I5 \LFA #47] =I5 =B EA = I3
4107:54] RKALKRIE = Bz H] SRS = IF = =L B 35k BAH RS = I
o | 08:02 AL R HEh ESEES = IF £ EEB Heh fIE =5k = IE
610810 FHE B 3k ARHEZ = g ik shi&s /N T ERER K& #B iy
70818 EE S D 3k ™ HE X =g HE ZEX Heh Pt SeAl HrEh
8 | 08:26 R E— HEm 2K 8= = IE ER /N AR T
9] 08:34( ;o/¥y 11T HrEh AEE= = IE SRl S Hm[ = A /N MR T
10 | 08:42| F=H FHER H @ TS 18R = IF By 21T Heim FR3E BEE JE [
11 08:50| %&EH & HmEm A E— JI| g H] ThE IE= E ¥ M i JE [¥]
12| 08:58 N DI R [E LLF B HEmh ERRE BB E [E) A BREB AU D™
131 09:06) HH 1IE7A HmEh JIAR 56k HmEh ER3Z ERA = T 1& H] £h RE5 = T 18 H]




